R IRE
BRSH
NEAEEE

I LM E(T R L)

RRHE

W& MERTERAEL@ 360°)

B KW

DR

RAAEEM
PRIE A R R
18R AR KA R
PRIEE KRG AL FBIHER
BIEE XN REEBLR
AHES&ERNERERK
MTTFd/MTBF
HEBEE

T A BRMAFE(typ.) REERK
THAREBRIRFE(typ.) BEER

ek S TN Rk =
WHRARBERAR
B AR M R R
B E G
BRELGEEE
BAEEERG
BREGEEBE
TR
BAERE TR MG
BRLUBBE TR
BREE TRER
BREUBEEE TR

MBS R
M AEE
Fhin S5
RANF

ITHENEFRE

IEC 68-2-6 #&k3h (Amax =0.75mm, f=5 ... 2000 Hz)

IEC 68-2-27 # i

(SR

EN 55022 class B, Emission radiated (30... 230 MHz)

EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)

EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

RARHEHAR (L) ARAH

A}

-

ERAR (B FRAF

% of meas. range
% of meas. range

bit

kHz
kHz
us

us
ppm/°K
years
VvDC
mA
mA
kOhm
nF

mm2

mm2

mm?2

mm2

movements
°C

«Q «

dB(uV/m)
dB(pV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

TEL:400-800-5927

MH-C MH-C2
0 ... 360
+0.3
+0.5
0.1

14

0.1

2.2
(0.55)
400
(600)
25
240 / 240
8..35
19

(14)

yes
Wires (5x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)
yes

Wires (10x)
0.25 (AWG24)
Cable 10pole
0.09 (AWG28)

360 (continuous)
IF68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1
10

30
20

A8 T.:

www.imcortech.net

ii

Vert-X 37E - 24V / SPI

K1 F

Rl HL%
BRI
ol WA
BHRRARER

FREREN

B E% IP68
FEAERIT
A= B 5%

REEw

EREENE
BAFEHRENA

(CRE, BN, RELKRHE)
BREESAECEANES #
RAEH

Errors and omissions excepted. Subject to
change without notice. / State: 01.70.10

CONIELEC

A company of the Siedle-Group

17316386953



A}

RERBEEA (L) FRAF

A

=
=
|c

BRI 3 /B

2 A% 448 10pole

7 ¥R 44K Spole / 6pole
9 Tk BRIk KK

BREE/ ZE
1 %08 B L4 10pole
6 Hi% B B4 6pole

Vert X 37E 24V SPI
Ordering code

W : s
BB CWHR 1 9 WL H TR RS AF IR B
IE @ #E CCWA 2
TUAR, EB#E CWHA#S BUKE
TR, E@#E CCWH 4 01 AT 10cm
R, RXESHLATILS 03 AT 30cm
05 #% ) 50cm
WHES 99 Wik HHKE
SPI Standard 8
BHEKE
02 ¥R 1.0m
06 A% 3.0m
fiteg Bk 10 A% 5.0m
24VDC Standard 1 99 Wik HHKE
VertX 3 7 Ei 4 7 3 6 1 8 1 7 0 5
BEEA
36hRE B S A360°
xxA] %03 to 35; Declaration in 10° steps
99TE R R B REA
R RE
7 MH-C
AR A M AR A
37E1 Wik ABRR % size 13 ; RN ITHMBtype 1
37E2 Wik IR L $Esize 13 ; Witk T Hl Mtype 2
37E4 WA BR R ¥Esize 13 ; WM ATHLAE type 4
37E9 Wik BB INR BB AT IG
MH C MH C2
1T I8 M 4047 WL A X
TSR X
iT #8408/ & 48 X
PR AE R R X
FFXRINEETTL (max. 2) X
PR AR &
SRR ESSEA STE30° to 360° (BHWI) X
AR TRE (54

BIERME QANRE (& L)
BE¥ A ECW/CCW FIiRE / Al 4wie (ML L R M)
FRE|RARE AT RRE (BN EE R

TEL:400-800-5927
www.imcortech.net

RARHEHAR (L) ARAH

ik (REEFER)

CONIELEC

A company of the Siedle-Group

A8T.: 17316386953



A |

REREEHAR (L) FRAF

Einbaumass ~ Ltdz
working position 16
M5 S ini
- 21, 8
| H3
S ] |
o 1 | —
Lo [ | o
g =
| = Fanhil
e T ¥~
e JTH
j 4 H
|l ] #hTiefe 5 12
¢ 26 19, 4 |
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,3
AT T4 16
5 o U -—
ST I —
ST Rl @ —
RCIR NS |11y B S
SO A r Y
l ol TH
| e . 3
gh Tiefe b 12
826 24

RRAERA (L) ARAFE TEL:400-800-5927

www.imcortech.net

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx

E2 4 (incl.)
1Ix BEXRF
2x R E 1R 4 M5x12

THEUEZ) M EERTHIE
RK AV
SERERFER

Vert-X 37E4 xxx xXxx 4xx
Vert-X 37E4 xxx XXX 6xx

B2 4 (incl.)
1x BERF
2x R T R IR 4 M5x12

THRMEZ) M #ERTIG

RRAFHE
SERERR

CONIELEC

A company of the Siedle-Group

A8T: 17316386953



R}

REREEEAR (L) FRAF

Finbaumass ~ [rdz
W1 working position 1,6
B |
[ =Tl S8
il 7
moc‘f | i g g"
_
1Sk] g5 CHI v 1
s TH 1
1 Nyl
‘ = 4]
o || @5 Tiefe 5 12 165
. 826 19,4
. Finbaumass L EE
.;SW 10___ working position 16
-l 4
Q — - o8
f'\/ L] — 11 HE=Ss
- o o1 <CHAR i
» S\ 3l \ 0 %‘
[ ! | o "—L
| @ ) e 1 Ul [
N/ 2| !
\\;;:j;;l::/,//’ ™ JT L 1
| sy n
\m/ D=1 s
#5 Tiefe 5 g2 1)
826 i

RARHEHAR (L) ARAH

TEL:400-800-5927

www.imcortech.net

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx

B4 (incl.)
1x BEXRF
2x BRI Z B4 M5x12

THEMEZ) M BMEHRATHG
RAAFHE
SERERFER

Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx Xxx 6xx

B #(incl.)

1x BEXRF

2x W iE R E IR 4 M5x12

THEMVEZ) M EERTIE

BRAAFHE
SERERFER

CONIELEC

A company of the Siedle-Group

A8T: 17316386953



R}

RREEEAR (L FRAF

Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
L(_) OZ} |7 1 ‘l II‘H “ ‘l J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— L. 6 = <=}
= |3
T T o HE =
o i 5
L[_) Dg_ |7 1 ‘\ H‘II ‘F k
" | | o0 m gL (\I“Lo
ST AT M= T el lsls
s | @ LJ‘E :7@‘ =2y il i
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

RARHEHAR (L) ARAH

TEL:400-800-5927

www.imcortech.net

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx
& #(incl.)

1Ix BEXRF

2x W AE R JR IR £ M5x12

THRMEZ) M EERTHG
RK AV
SERERER

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B4 (incl.)

1x BEXRF

2x TR SR 4 M5x12

THRAEZ) M #ERTHN

BRAAFHE
SERERR

CONIELEC

A company of the Siedle-Group

A8T: 17316386953



RREBEFEAR (L) FRAF

L_Zidz

/ Iidz

N

v

RARHEHAR (L) ARAH

TEL:400-800-5927
www.imcortech.net

Vert-X 37E4

TRER

THEMAEZ)

MH-C 3.85mm
MH-C redundant 4.35mm
BT &R K AR EEIL

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1

REFR

IHEEEEZ)

MH-C 4.95mm
MH-C redundant 5.45mm

BMERAT AL R R AL VR 4R ID

dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

A8T: 17316386953



RRXBEFEAR (L) FRAF

ST

- 50
Q
N . oL
7]
1 , ‘
i T ' ‘
_#33,8

35
1,5

RRAERA (L) ARAFE TEL:400-800-5927

www.imcortech.net

Vert-X 37E2

TRER

THEMEZ)

MH-C 6.45mm
MH-C redundant 5.95mm
RMERATH R K AT

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E

CONIELEC

A company of the Siedle-Group

A8T: 17316386953



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



